



Try subtracting these fractions.
I have done the first one for
you.

1. $\frac{4}{6} - \frac{2}{6} = \frac{2}{6} = \frac{1}{3}$

2. $\frac{5}{6} - \frac{2}{6} = \frac{\square}{\square} = \square$

3. $\frac{4}{5} - \frac{2}{5} = \frac{\square}{\square}$

4. $\frac{4}{6} - \frac{1}{6} = \frac{\square}{\square} = \square$

5. $\frac{6}{7} - \frac{1}{7} = \frac{\square}{\square}$

6. $\frac{5}{8} - \frac{3}{8} = \frac{\square}{\square} = \square$

7. $\frac{8}{9} - \frac{5}{9} = \frac{\square}{\square} = \square$

8. $\frac{9}{10} - \frac{1}{10} = \frac{\square}{\square} = \square$

9. $\frac{10}{12} - \frac{6}{12} = \frac{\square}{\square} = \square$

10. $\frac{7}{9} - \frac{1}{9} = \frac{\square}{\square} = \square$

11. $\frac{4}{7} - \frac{1}{7} = \frac{\square}{\square}$

12. $\frac{7}{8} - \frac{1}{8} = \frac{\square}{\square} = \square$



Try subtracting these fractions.
I have done the first one for
you.

1. $\frac{4}{8} - \frac{2}{8} = \frac{2}{8} = \frac{1}{4}$

2. $\frac{4}{6} - \frac{2}{6} = \frac{\square}{\square} = \square$

3. $\frac{3}{5} - \frac{2}{5} = \frac{\square}{\square}$

4. $\frac{5}{6} - \frac{1}{6} = \frac{\square}{\square} = \square$

5. $\frac{6}{7} - \frac{4}{7} = \frac{\square}{\square}$

6. $\frac{7}{8} - \frac{3}{8} = \frac{\square}{\square} = \square$

7. $\frac{8}{9} - \frac{1}{9} = \frac{\square}{\square}$

8. $\frac{9}{10} - \frac{3}{10} = \frac{\square}{\square} = \square$

9. $\frac{10}{12} - \frac{2}{12} = \frac{\square}{\square} = \square$

10. $\frac{7}{9} - \frac{4}{9} = \frac{\square}{\square} = \square$

11. $\frac{5}{7} - \frac{1}{7} = \frac{\square}{\square}$

12. $\frac{7}{8} - \frac{5}{8} = \frac{\square}{\square} = \square$



Answers

Page 1

1. $\frac{4}{6} - \frac{2}{6} = \frac{2}{6} = \frac{1}{3}$

2. $\frac{5}{6} - \frac{2}{6} = \frac{3}{6} = \frac{1}{2}$

3. $\frac{4}{5} - \frac{2}{5} = \frac{2}{5}$

4. $\frac{4}{6} - \frac{1}{6} = \frac{3}{6} = \frac{1}{2}$

5. $\frac{6}{7} - \frac{1}{7} = \frac{5}{7}$

6. $\frac{5}{8} - \frac{3}{8} = \frac{2}{8} = \frac{1}{4}$

7. $\frac{8}{9} - \frac{5}{9} = \frac{3}{9} = \frac{1}{3}$

8. $\frac{9}{10} - \frac{1}{10} = \frac{8}{10} = \frac{4}{5}$

9. $\frac{10}{12} - \frac{6}{12} = \frac{4}{12} = \frac{1}{3}$

10. $\frac{7}{9} - \frac{1}{9} = \frac{6}{9} = \frac{2}{3}$

11. $\frac{4}{7} - \frac{1}{7} = \frac{3}{7}$

12. $\frac{7}{8} - \frac{1}{8} = \frac{6}{8} = \frac{3}{4}$

Page 2

1. $\frac{4}{8} - \frac{2}{8} = \frac{2}{8} = \frac{1}{4}$

2. $\frac{4}{6} - \frac{2}{6} = \frac{2}{6} = \frac{1}{3}$

3. $\frac{3}{5} - \frac{2}{5} = \frac{1}{5}$

4. $\frac{5}{6} - \frac{1}{6} = \frac{4}{6} = \frac{2}{3}$

5. $\frac{6}{7} - \frac{4}{7} = \frac{2}{7}$

6. $\frac{7}{8} - \frac{3}{8} = \frac{4}{8} = \frac{1}{2}$

7. $\frac{8}{9} - \frac{1}{9} = \frac{7}{9}$

8. $\frac{9}{10} - \frac{3}{10} = \frac{6}{10} = \frac{3}{5}$

9. $\frac{10}{12} - \frac{2}{12} = \frac{8}{12} = \frac{2}{3}$

10. $\frac{7}{9} - \frac{4}{9} = \frac{3}{9} = \frac{1}{3}$

11. $\frac{5}{7} - \frac{1}{7} = \frac{4}{7}$

12. $\frac{7}{8} - \frac{5}{8} = \frac{2}{8} = \frac{1}{4}$